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L. (@) [t Fl2)=-52%. () =2"+2>-2% . Tho wae. Roucld’s Thn.
(b) Ley f2)=9 . Qlz)=22%-22°+ 287 -23 |
o Let fn) =-042%, @) = 2"+z2 - .
T. Heb, (0 [et f@=97 . Q@)= g*-2¥42 )
Thon we Buclly’s Thn .
b Let f2)=2° . @z) =387+ 2+
Then wae Ruche s Thrm.
Q. Solution. fust. omeider the number af 26105 Cowntmg V’Vt(tgb hcitica wm e coclo
Ci: 12l =].
Let 7!.(2):—62‘ , 2 (@)= 22 +t2+],
Noteol that i) ond 1) ode onalylic m (2]<|  and Hat
b=tfite)] > 4 =2+ 11> |2®] on |z]=].
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mside. C, .
fect. we conSide zeros, Couptng mu(bilbkc{%% m e cxcl. (o l2l=2
let Tz(z) =22 . Q.(3)=—h2*+2 +|.
Qi»n{&w(\»], L:, brudhe s U, we gets
2 b+ 2 | Aas T g3, omnhﬂj multiplic] tha mspole. Cs .
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